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155 1: BT 200

—d 0770:0000
0000 31 . display
0010 32 . brows
. replace

—
BT Z )
B DOSBox 0.74, Cpu speed: 3000 cycles, Frameskip 0, Program: DEBUG | — X0
-4 0770:0000

70 6C-61 . display
. browus
. replace
. modify

Program terminated normally
—d 0770




AX=0770 BX=0000
(ADS=0770 ES=0760
(o774 : 0010 BEO3OO
—t

JRA==0770  Bx=0003
DS =-0770 E3=-0760

0774 :001a 83C301

h

BH DOSBox 0.74, Cpu speed:

Cx=0004 DX=0004 SP=-0000
53=076F CS5=0774 IP=-0010
[y 1V

Bx, 0003

Cx=0064 DX=0004 SP=-0000
33=076F C5=0774 IP-0013
MOV fx, [BX+311]

CA=0004 DX=0004 ISF-0000
33=076F C5=0774 IP=0015
SUB AX, +Z20

CA=0004 DX=0004 ISP=-0000
35=076F C3=0774 IP=0018
[y 1V [Bx+311,A%

CxX=0004 Dx=0004 SP=0000
33=076F C5=0774 IP=001nA
AbD BX,+@1

3000 cycles, Frameskip 0, Program: DEBUG

BP=0000 SI=0000 DI=-0000
NU UP EI PL NZ Na PO NC

BP=0000 SI=0000 DI=-000(
NU UP EI PL NZ Na PO NC

D3 :0003=-6964

BP=-0000 SI-0000 DI-0006
NU UP EI PL N2 Ha PO NC

BP=0000 3I=0000 DI=-0000
NU UP ET PL NZ NA PE NC

D3 :00603=6964

BP=0000 S5SI=0000 DI=0000
NU UP ET PL NZ Na PE NC

BAIEAT 2:

B DOSBox 0.74, Cpu speed:

AX=0770 BX=-0000
D5=0760 ES=0760
0774:0003 SEDS

AX=0770 BxX=0000
D5=0770 E3=-0760

AX=0770 Bx=0000
D5=0770 E3=-0760
0774 : 0008 BEOOOO
—t

AX=0770 BX-0000
DS=0770 ES=0760
0774 :0008 GED1
—t

AX=0770 BX=-0000
D5=0770 ES=0760
0774 000D BI400

CX=006B Dx=0000 SP=0000
353=076F C5=0774 IP=0003
[y 1V] D3.Ax

Cx=0068 DX=0000 I3P=-0000
35=076F C3=0774 IP-0005
Mou Cx, D04

CX=0004 DA=0000 SP=-0000
35=076F C3=0774 IP-0008
MOU 51,

CX=0004 Dx-0000 SP-0000
353=076F C5=077?4 IP=000B
[y 1Y) DX, CX

CA=0001 Dx=0004 SP=0000

353=076F C5=0774 IP=000D
(y 1V Cx, e

3000 cycles, Frameskip 0, Program: DEBUG

BP=0000 S5I-0000 DI=-0000
NU UP EI PL NZ NaA PO NC

Br=0000 SI=0000 DI=-0000
NU UP EI PL N2 Na PO NHC

BP=00600 31-0000 DI=-0000
NU UP EI PL N2 Na PO NHC

BP=00600 31-0000 DI=-0000
NU UP EI PL NZ Na PO NC

BP=0000 S5I-0000 DI=-0000
NU UP EI PL NZ NaA PO NC




BAIBAT S

e T e gy e
DS=0770 ES-0760 SS=076F C(5-0774 IP=6015 NU UP EI PL NZ NA PO NC
0774:0015 B3EB20 SUB  AX,+20
-t

AX=0944 BX=0003 CX=0004 Dx=0004 SP-0000 BP=0000 SI=0000 DI=-000G
D5=077?0 ES=0760 33=0Y6F C5=0774 IP=-0018 NU UPF EI PL NZ NA PE NC
: y 1V [BX+311,AX D3 : 00R3=6964

Cx=0004 DX=-0004 SP=0000 BP=0000 SI-0000 DI=-000
D5=077?0 ES5=0760 33=0Y6F C5=0774 IP=-001n NU UP EI PL NZ NA PE NC
0774 :001A 83C301 AabD B, +01

El

Program terminated normally

—d 0770 0000

0770 : 00600 ZE . DISPlay

0770 ZE . BROWs

0770 ZE . REPLace

0770 ZE .

0770 1
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1155 3:

BATEE R (I T debug W52 H KT L R EL 7 A feAT L2520
W1 T A O 20 i B OR s A TR, TRAE I R AR R

rm DOSBox 0.74-3, Cpu speed: 3000 cycles, Frameskip 0, Program: 1 = x ]

welcome to masm?




